2019fF4H21H (H)  2\35(2H 5R

5 % £ |5R 1600m -k C A¥£ : 500, 200, 130, 75, 5075F ’
. = . % E 1:35.5 MFISEBARS 53423 255 9 335 7 345 6 i }
12:30 [¥S>R3IF KBH [$BE] BEs 4L BF 1:36.7 L—R5 . FHEr : SSH 18 HNS 15 SHM 12 MW 12 Grant d
R waEw | PEEY | EEREE 35 R AR AR 1478 =FifEE }Eﬁz %tﬁz (GE, T, B) B HTE=L—R% |, TA4VT H9S5R 3{IE= %IIE B - BE - AR AN
#|E| & E % §§ ERE N A SAE - B B 2, 3. 4A@EBIEL S5{TE=iERt - 2 BiRE 24 L LEAY3
53 E-) & |EnEE/ el 4EuT |8 21 ®IF(HEL, WEL, SELY)  RT#E 3 FML ﬁﬁﬁﬁ‘ﬁﬁ A-b~4fh - 3F~4F - 1&3F(5~1) +Y 3 FIREL
BB # | BOR) HE e AR | ZI6008E (mm EE  [mm s jgon| L—REUSFEAL 4HEDLYSFAAL > 05 QBEKT ITE=1ABRIL2EE (h%) 1. 2. 3EEOMWE
sE/BE CEEES % | 3"5AMM| @& BLFR| B3 s00m B WA 3R 4R 5ERT
FILTI—5 3 51 B[ A:::: [R20004 | FK0004 [19.02.17 47 TN 1Rm8 | 19.07.27 46 WM gm2 | 18.12. 08 38 MG IL3 | 18.10.28 35 WMMA4mmO | 18.10. 14_,41 T IRRS
L amFUnR=5 MEZE= $£0.0.01 | 20000 | REEFI KESF | RESF REEF | RAESFI RESF | RESFI REF | ACHTE HE
- 54.0 .133 #820.0.0.0 | Fm0.0.0.0 |6  168EI2E 8A 5 1688 1% 8A BM |6  16EEI4FI4A s |6 1288 6% 5N 12 188 4B12A W
T[] a2l vamroyy—L B | RTHESE | "B 13540 | #720.0.0.0 | F/N0.0.0.1 | 424 +4 3+ 54  @AD| 420 +2 3+ 54 @@ | 418 0 HIIEF 54 @@ | 418 -10 &A% 54 @G| 428 %) Echs 54 BD
FvITTFURT4—) £ . 104| BB 13546) | 2 0.0.0.0 | =F0.0.0.0 | 1600m ¥ B 1:36.0 33.5 | 1600m = E 1:35.4 34.3 | 1800m Z E 1:50.4 37.3|1600m = R 1:37.4 34.9 | 1600m 2 # 1:37.9 34.9
RS (B &) [#]] 0.0.05 £50005 [ --vv--- SSH 36.2-34.0 335 (3) [ SWM 35.9-35.2 315 (3) | MMS 37.0-36.1 522 (13) | SSM 35.9-34.5 253 (5) | SSM 37.3-34.5 253 (10)
(F) #HRT 505 #0%E0520i80 | £470.0.0.0 | #mir 0000 | #y%(0.3) E&E% | 740242(0.5) KEE | y-101.3) ZWB |V ypIALAAL5) Sk | 2447011 pibi%i
FFI=T7—R 43 g% = S z‘z‘o 0.0.0 [ F7X0.0.0.0 1;()/0{3716_»3&- 2;‘;[%7
S E 20000 | F20000 7
b—RoRyh 56.0 .137 820000 | Fm@0.0.00 [10 168 5% TA
112 F—HD FILFz 2 | BRE 220000 | F/00.0.0.0 | 510 #) #&F 56 @OO
(UHRT 15 52R) £ 055 E0000 | =F00.0.0 |1800m % B 1:59.8 42.1
B =4 (AR [%]] 0001 |[0001 [£20000]|----@ --|MWMN 37.8-39.3 431 (11)
REWE W) 050220580 | £470.0.0.1 | 48 0000 | 7 94Ma-(3.4)  %KEE
O—TI>7 > H3 %g 1 B zzo 0.0.0 [ F7<0.0.0.0 1%5%?*11]3 33 -—“"1;%#%3
= S = = BhA 20.0.0.0 | ¥=0.0.0.1 F|
3TART—5— 56.0 103 820001 | Fm0.0.00 |14  16EISEIOA Ksb
7 3 597 —RF—5— E | REB— #0000 | F/\0000 |488 % A#8G 55 ©BB
(B=/FLLY K £H 083 EZ0.000 [ =F0000 [1200m = B 1:12.6 358
FEAYE (HOEHE)  [8]] 0.0.0.1 |2 0001 [£2000.1 |[@: -+ SSH 34.8-35.5 143 (1)
S — 00520380 | £40.0.0.0 |88 0000 | 1/} (2.3) pisit.]
SxABTTA 3 | 50 A - |RE01.01 [FA01.01 [19.03.16 47 W27 | 19.02.17 47 mﬂli?S 78.10.20 49 T4R=6
KSURFSaFIL M7 L-n B 478-480 | 2 0.1.0.0 | F=0.0.00 | KREEFH KR | KBTI K@F | AV TE HE
e ~3 56.0 .331| fF 55-56 | #8£0.000 | FE0.0.00 [ 2  16EI1E 1A 5 163 9% 1A 2 18EAI3E 3A 4t
A 4lo|va—a F | BREC | ®R 13606 | 20000 | F/00000 |4780 FL— 56 ©OD|478 2 FL— 56 ©O 480 4 FL— 55 @OO
(Efisio) £ . 120| FE 1355@ | £Z0.0.0.0 | =F0.1.0.0 | 1600m # B 1:35.5 36.3 | 1600m = B 1:36.0 34.0 | 2000m & B 2:02.1 33.4
#i 77-h (FHEH) [%]] 0201 %0100 [£%0201 | ----@--|SHS 35.8-36.5 454 (4) [ SSH 36.2-34.0 434 (7) | MSH 37.3-33.8 255 (2)
ik 53075 | #0522£0580 | £40.0.0.0 | 548 0000 [ 5 bbh Y-y(0.3) kB | 4y4(0.3) EEE |02 0-4"2(0.0) KEE
7-4—?7')7/7— 43 }_gi = R zioooo F750.0.0.0
KR £0.0.00 [ F=0.000
-k oEL 54.0 .070 20000 | F80.0.0.0
3 FIOXELY Y F | FEilss #320.0.0.0 | F/10.0.0.0
H9518hF+-) £ . 000 20000 | =F0000
ALB77-4 ATEET) 0.0.0.0 20000 | -
BERES 05020580 | £470.0.0.0
549 FI—ILEY 3 [ 50 % : : : | B2 00071 |FAO0TIIT [19.03.23 48 T3l [19.01.14 40 T {m L5 | 18.12.28 41 M5 LO | 18.12.08 43 WMMGSHL3 [ 18.10.08 42 TN 4R =3
I RATF—F SHER | 5 484-494 [ ¥ 0211 | $20000 BRI xuﬂu REEF RESF | RESFI KESF | REFF KESF | RESFI RESF
54.0 .217| fr 54-54 1820000 | Fm0.0.0.0 | 2 1688 4%& 2A W |5 1658 9% 2A 4 163811%F 3A 2 1688 6% 2N 5 1588 7& 1A
KM 6O [*ortTvey e | BIE | R 13505 | #0.0.0.0 [ FN0.1.0.2 | 484 -6 =R 54 DO 490 4 =R 54 @[ 494 0 ZHR 54 QDO [ 494 +6 ZHE 64 DDD[488 0 =HL 54 ©O
(Unbridled’ sSong) £ 179 B 13596) | F£0.0.0.0 | =F0.0.0.0 | 1600m Z B 1:35.9 35.7 | 1800m 4 B 1:58.8 42.1 | 1800m # R 1:49.9 35.9 | 1800m 7 R 1:49.4 36.4 | 1600m 2 B 1:35.9 34.5
§ b=y v o-h(BEEND [5£] | 0.2.1.4 [ 201,00 |£2021.3 | ---@----[NSS 35 1-36.0 354 (2) | SMS 38.0-41.3 533 (6) | MMM 36 7-35.8 434 (3) | MMS 37 0-36.1 533 (3) | HSM 35.2-34.7 254 (2)
R 22 7755 | #1%120:80 [ £4 0001 | 38 0011 | 2-Mb(©.2) % | 7574 (0.9 BkEE | A0 EdkE [ 199-1(0.3) ZHE |97 (0.8)  sesek
FALNT T FHF— 3|47 T :: |BRZ2000.1 | FKx0002 |19 0331 45 T3 L4 | 18 10 13 40 Ima
Stz —F ES::pR] h$ 0001 | 20000 | REEF FF | AU TE
TAT= 54.0 .115 1820000 | Fm0.000 |5 1638 8HIZA 10 188 7H12A
4 TISLUTAY uY B | FOm= | WA 13760 | i 0.0.0.0 [ F/00.0.0.0 | 472 +10 S£@K 54 462 %) =HE 54 @@
(YR o HE—2) %38 .075| BF 1365G)| 20000 | =F000.0 |1600m = 7 1:36.5 35.3 | 1600m 2 E& 1:37.6 35.1
£y byb 77-h(EE)  [£]] 0.0.0.2 | 0001 [£20002 | -®- - SMM 36.3-35.1 323 (4) | SSH 36.3-34.1 333 (9)
() 457" byt 537" -5247 505 0502080 | £4°0.0.00 | 28 0000 |7 4v3~4v(1.0) Sk [nyivh a-(1.8) Ziksk
A—FA+A7 H3 gg %E%rg I zioooo F70.0.0.0 1’?‘22923“3‘2:*-2;11_11
S £ R 20.0.0.1 | ¥=0.0.0.0 T
RANMATUAN— (50 i 20000 | Tm0000 | 14" 108 5% A
£y 8 AT UTFR B | ARER H£0.00.0 | F/000.0.0 (492 %) HEE 56 (WOW)
(V24 oHHE—2) £ . 000 F0000 | =F0001 [2000n = & 2:086 40.9
= E 5 (AT [#]] 0.0.0.1 £ 0001 [ -o-vin NS 37.5—36.2 421 (16)
RHEEX 02020580 | £470.0.0.0 [ 758 0000 | N I35 4R)-7(5.2) %£E%
ZH—TE—O— T3[46 B ::::: |B20000 |F/A0001 [19.0203 44 M 1chs6 | 18.12.08 44 MN5HIL3
=32 HEEE 20001 [ F=20000 | K KEH | AU TE #E
T= 54.0 116 #820.0.00 | Fmo0.0.0.1 |10 1858 3% 5A MW |4 1688 5% 4N
5]9 FARLT H | 2EB— #i£ 0000 | F/00.0.0.0 |438 -2 %FiE 54 @ | 440 %) NEE 54
(FHAFaAaLR) £i% .083| PR 1372@ | 2 0.0.0.0 | =F0.0.0.0 | 1400m ¥ B 1:23.1 34.7|1600m = B 1:37.2 36.0
THh° 77-L (B R HT) [#]] 0.0.0.2 £50002 [ --veno- MMM 34.9-35.2 235 (3) | SSM 36 4-35.8 533 (9)
(#) hHRE-T 400" R 1107 | 30502080 | £40.0.0.0 | 45+ 000 1 | ALy 0Y7-1(0.8)  ZiBE | 20{¥74-(0.2) KEE
EEFETEFN 3 T |BR20000 | FA0001 |19.0323 47 TON3RWl | 19.02.02 37 T ichmb | 18.12, 09 35 MMM IL4 | 18.17.25 35 < GERmE8 | 18.11.04 45 0 otmi2
O4L—)L $3£0.0.0.2 | F20.0.0.0 | K KR | RESF REF | REER RF | REEF KBF | AMTTE #E
820000 | Fm@0.0.0.0 [4 ~ 165EI6EION A5t |9 1358 5% 9A 17 1888 9B13A 9 16EEI2EI4A 4 1358 9% 8A
510 FL—bTo z 220000 [ F/00.000 |468 -4 #FEE 54 GDD| 472 -14 A M3 54 @O | 486 +4 LLME 54 QOM | 482 -4 AEF 54  DD| 486 #) AEE 54 @O
(Caer leon) B 1361@ | 20000 | =F0.0.0.1 1600 2 B 1:36.1 36.4 | 1800m 4 ¥ 1:57.9 40.6 [ 2000m % B 2:04.7 37.51600m & B 1:41.1 40.3 | 1700m % B 1:50.4 39.5
BRIEAYIS GFOAED [%] [ 0005 | £ 0001 |£%0002 |- --@----|NSS 351-36.0 533 (1) |SHH 38.3-38.8 342 (9) | SNS 36.7-36.6 413 (14) [WMS 35.5-38.5 532 (13) | SSM 31.0-37.8 422 (§)
ZFILBRF 18575 | #05020i80 | £450.0.0.3 | 3@ 0000 | AM-bevb(0.4) KEE | Wb Q2.4 EEE | T AAMA T EBE [ $00 TR EEE | Wubiy-n@ D EEE
2917 M- 7R -F 346 B - : - |R20001 | FX0001 [190203 41 WONIE=4 | 19.01.20 46 1 1L7 13 12.16 44 5eH(1I6
74 A4—X HiD#iE th0.0.0.1 [ F=0.0.00 | KEEFH KEF | RBF REF | AAHTE HE
TA 56.0 .197 4820.0.0.0 | Fm0.0.0.1 |11 1658 5& 5A 3 16EE11E 3A 6 165814%& 3A 4}
11 PR ZACIA B | EB% #200.00 [ F/00.000 |446 -2 KF$H 56 @DO|448 0 v—7 56 DDOD | 448 %) M 56 WOQD
(FIHRRExF ) £i% . 239| B 1376©) | £ 0.0.0.0 | =F0.0.0.0 | 1400m & B 1:23.5 36.3 | 1800m 4 B 1:58.4 40.3 | 1600m ¥ E 1:37.6 35.2
£77-L(F#H) [%]| 0.0.1.2 £50002 [ -o-vonn HWM 34.5-34.8 522 (12) | SSM 37.9-30.5 533 (8) | SSM 36.8-35.5 244 (3)
(#) Shadow 13075 ioiozoﬁo £40.0.1.0 | %550+ 0000 | $va0-x" (2.0) SeskeE [ o 4n -1 (0.8)  Sesesk | byt 7A7A(0.8) i ¥
JLUFTEaTA H3 [ 51 5 H2 0.1.0.2 | F/A0.1.0.3 | 19.02.10 46 W 15Ur6 | 18.09.30 41 MMM 4chL9 | 18.09 02 41 M2rs12 [ 18.06.23 39 Tid&a/ | 18.06.03 37 TMMORER?
FL—=> *HEH [ B 452 452 $Z0.0.01 | 20000 | REEFI KR | REEF KEF | REEF KR | REEFI KR | AAVTE
- 55.0 . 110| /f 52-52 | 420000 | Fm0.0.00 |8 ~ 168 1% 5N A |5  173812& 2A 4 1338 1% 2N 2 1478 8% 3N 7 158E15% 6A K5
12| st L bTzy—Fx B | FEEX | HE 13540 | 20001 | F/000.0.0 [476 +12 RE 56  ©® | 464 +10 ELA 54 GO | 454 +2 ATk 54 452 -4 HEEH 52 @M | 456 4) f@kH 54 @O
(F4—TA42185 1) %34 135| BB 1354@ | 2 0.0.0.1 | =F0.0.0.1 |1600m = B 1:35.4 350 | 2000m = F 2:02.7 36.8 | 1600m = # 1:35.6 33.0 | 1600m = R 1:35.5 35.2 | 1600m = B 1:36.3 35.7
S EEEHOEHED  [E] | 0.1.0.4 £F01.04 [ --vens HMM 35.2-34.8 343 (8) | SMS 36.8-36.5 433 (5) | SMM 36.6-34.5 335 (2) |HMS 35.2-35.6 255 (1) | SWH 36.0-33.6 251 (7)
HERCD 32575 | 0501580 [ £4 0000 | it 0002 | =9/hv4) (0.8) 2% |5 0.7 HEEE [ H 101 HEE | 9oy /U705 Sk | VIR KR
N=U554 w347 T |BRZ200071 [FA00071 |19.0316 43 Wm2epL7 | 19.02.17 46 Jmm (3m8 | 18.07.22 45 2BRAE6
BYILYFUH Hiligash 3 0.0.0.1 | $20.0.0.0 F REEF | REEFI xBF | A 45T HE
bid 54.0 237 820000 | FmM0.000 [8 ~ 16 3IZESA M |9 1638 8EIOA 7 13 5§ 8A
T[13| a3l o—=>vo4—> B | XRB— | R 1362@ | $7:£0.0.0.0 | F/00.0.0.1 | 450 -8 L 54 ©D® | 458 +12 L 54 @D | 446 #) H)IH 54 @OD
(Hol yRomanEmperor) £ . 046| HE 13629 | 20000 | ZF0.0.0.1 |2000m ¥ B 2:03.9 36.4 | 1600m = B 1:36.2 33,3 | 1800m = B 1:49.9 35.1
S5 (O BT [#]] 0003 [20001 [£20003|----® --|SW 37.5-35.7 423 (8) [ SSH 36.2-34.0 155 (1) | MWH 36.0-34.9 223 (3)
EZ L 0502080 | £450.0.0.0 [ a@ 0000 | HMATL-H (L 1) kER | 20940.5) EE&E 949197 (1. 6) HEE
Sx TR YR I [ 5 ©: ::: |BZ001T [FAOTTT [19.02.10 46 WM 156 | 19.01.13 47 MMM 1mH T8.12.16 41 <5616 | 18.11.18 4650
Hsi—= FISEAR | B 444-444 |82 0.1.1.0 [ F=0.0.0.0 F KR | KBTI ﬂ##‘l RESFI KH | A(HTE 5
- =¥ 56.0 255 FT56-56 | #820.0.00 [ FrH0.0.1.0 |10 1688 3% 1A M | 2 163I4E 2K 4 | 3 1688 9B OA 3 1T 2E N BW
7)|14| & | EzELT ER S HE 13550D | %% 0.0.0.0 | F/00.0.0.0 | 440 -4 FikizE 56 (DD | 444 -2 FUSZE 56 @3AWAD | 446 0 #ALGA 55 @ADMD| 446 %) deAtE 55 BW®
(7% %) ES] .130 HE 13550 | EZ0.0.0.0 [ =F0.0.0.0 | 1600m ¥ B 1:35.5 34.8 | 1600m 2 B 1:35.6 34.5|1600m ¥ E 1:35.9 35.2 | 1400m = B 1:24.1 33.0
b AGE [#]] 0.1.2.1 £FOL2T1 [ e HWM 35 2-34.8 254 (7) | MMS 35.3-36.1 155 (1) | SWM 35. 8-35.5 334 (2) | SMH 37.6-33.5 255 (1)
IR 51075 | #0%0£1:80 [ £4 0000 | #mir 0000 | =944 (0.9) EEE [TV 10D EEE | AT A -h0.4) SEEE | AX/Y0.7) B
O—KAFa7 53|44 B[ : . ::: |HR=Z0000 [F7A0000 |19.03 16 43 Wmm2epil7 | 19.02.23 47, ﬂzmuu
awJYy R—) |IEES 20002 [ F=20000 | KEEFH KEF | A4 TE
e 54.0 .065 820000 | Fm0000 [9 ~ 165 5% 8A 4 1678 6% 4}\
7|15 av/ 537 B | #)IEE #7£0.0.0.0 [ F/00.0.0.0 | 470 0 52K 54 ®©B@® | 470 #) £@EX 54 DO
(RRS LY 4 —2) £ 100 ££00.00 | =F0.002 [2000n = B 2:03.9 36.4|2000m = B 2:044 36.7
BiIH405 (O HVHHT) [£]] 0002 [£0001 [£%0002]|----@ --|SM 37.5-35.7 433 (8) [ SNS 37.5-36.2 443 (4)
EBIFEE 9075 | #05£0:£0i80 | £470.0.00 | 548 0000 [ W#hazb-h(1.1) &% | 055 420-7(1.0)  %£ERE
FooALO— %3 [ 48 T |RZ0000 | FK0000 19 03.03 48 -_m_\%a ﬁ_w.oz.w 38 TNA3 | 18.12.23 25 WMMGAILE | 18.12.01 35 WMMAEmT [ 18.07.22 41 1 21288
By kS [Y::Ee P 50000 | $20005 =1 REEH RESF | SRASFI ECTIE S REEF | REEFI REEF
JrT 2 54.0 .032 820002 | Fm@0.0.00 10 1258 9&12)\ n 15 18EEI4BITA s+ |16 1638 9BI3A 12 1884 3BIOA MW |8  16EAISEIIA K4t
8|16 YLAZVTTFAT S B | AEREE H£0.0.0.0 | F/00.0.0.0 |428 +4 UgE#E 54 @M@ 424 -6 VBEHL 54 (DD | 430 +2 NEAE 54 WD® [ 428 0 Ll 54 @D | 428 -14 K@ 54 OW®
(R—RSZ2HVF—) £ 037 0001 [ =F0000 [1200n 2 F 1:13.2 37.3|1200m & B 1:11.1 35.0 [ 1800m & B 2:00.4 42.9 | 1200m & B 1:10.7 35.0 | 1200m = B 1:11.7 36.5
SEKRSYN (BRALLET) [#]] 0006 |[20001 [£%0005 | ------ ®-| S5 34.5-36.0 132 (9) [ SSH 34.3-34.6 153 (5) [MWM 37.1-30.3 111 (13) | MM 34 4-34.9 244 (11) | SSS 34.6-36.5 424 (8)
TIMEE MOSEOZO0B0 | 240001 [ 68 0000 | 774h74-59" 2.7)  $kEE | 7AW -(2.2) 3k | # -G 9) kK M-y (1.4) ks | AAH U39 0.6) SEEE
7 RRANL—> H3 |46 Ti::: |RZ000.1 [F/A0003 [19.03.23 44 TouddLl | 19.01.26 33 T 151 | 18.12.22 36 WMMbaL7 | 18.11.24 43 BMMbR=/
A TARLE— ABRE h£0.0.0.2 | F=0.0.0.0 | FREF| KR | REEFI KR | REEF KEH 9TE 5
54.0 121 #0000 | FrmH0000 |5 1688 7% 5A 11 16TE10% 4N 8 16 TENA 4 1838 4B12A W
8 [17 TATATTS R |fBE— | HE 1375@ | #0000 [ F/10.0.0.0 | 442 -10 Bk 54 GO | 452 -6 Hehtk 54 ©O | 456 0 Hehtk 52 @D | 458 ) Btk 52 ©®
(Af leetAlex) £i% .000| B 1354@® | £ 0.0.0.0 | =F0.0.0.0 | 1600m = B 1:36.5 36.5 | 1600m 4 B 1:43.1 41.0 | 1600m = E 1:35.4 36.4 | 1600m ¥ B 1:37.5 34.6
HEEAKS (FTAT) [£]] 0004 [20001 [£20003 | ---®----|NSS 35.1-36.0 443 (9) | MSM 35.3-38.2 441 (10) | HHS 34 5-36.7 234 (4) | SSM 36.9-34.5 424 (1)
SEM3 16075 | #05020380 | £40.0.0.1 [ #3@ 000 1| 2-pevb(0.8) EEE | V-9 13.2) REE [ 2977 -50.0)  EEk | 4 1437v0.8) EEE
T oS oTA 3|48 B[ ::::: |R20000 | FA0003 |19.0407 46 WN3FL6 [ 19.01.14 39 TeR5 | 18.12.16 46~ 59 IL6
Ea7FR—3:2 AR $20003 | F20000 | REFF KESF | RESFI KR | A4V TE 55
TR—Y3 |50 105 820000 | FmM0.000 [7 ~ 165 4% 9K A |11 1688 5&11A 4 163E10% 5N
8|18 axEYY— B | SeEt 22 0.0.0.0 [ F/00.0.0.0 | 444 -4 FiFdt 54 @@Q [ 448 +4 FEIL 54 @D® | 444 %) =i 54 @@
(FRS51HR) £ .026| FE 13550 | 2 0.0.0.0 | =F0.0.0.0 | 1600m ¥ B 1:35.5 35.3 | 1600m = B 1:36.3 37.7|1600m = B 1:37.4 35.9
£y byb J7-L(EET) (%] | 0.0.0.3 |2 0.0.0.1 [£2000.3 | -@------|MH 35.6-34.9 443 (11) | HNS 34.5-36.3 342 (14) | SSM 36.8-35.5 533 (8)
() 457" byt 537" -5247 1105 | 0503080 | £40.0.0.0 [ 18 0000 | 7" 5u9es-(0.7) %%k | 384 410-(2.0) Sk | byb 7274 (0.6) ik
ﬁﬁﬁleoomﬁiﬁﬁﬁﬁ (SEEHHAR : 2017.04. 19~2019. 04. 18) RETE Py BB 3 ENE FHESv T/ 2L REAEH
uﬁu S WEER 1% 2% 3% AN BE ENE F OBGO (#& 1 2 3 456 7 8 @ %. 353N KIF5AT 3 ek
Fa— 7’4 DA 181 27 21 25 108 0.149 0.265 |y 00w (3%ME) 1021222217171716 t #: 243 W BHIEL 2+
2 O—Kh+Aa7 6 10 7 6 43 0.152 0.258 . T % % 351N ECY 3 ek
3 N=vsS4 9 8 13 48 0.115 0.218  © EDH® & 00 FAL: 1347 BUVRF 2
4 =5—2yF 5 8 7 4 3 0.151 0.283 @@ 5 0w
S FMIAANAN M o 5 8 7 %o 0 FARFIT Fotb, HHOFRENAL, BN, BFARA Y, AT EMERTOME R AL T FEL.

20199°4H21H (H) 2[E#52H 5R YT R3 AWF [fiE] S 1600m 2 - /& ARG B OB, IEIRERUET,



